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Smile 1758
Coordinate Messages
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If you liked this work send
a message to a friend.
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£ Find the ship on the map.
Move 2 east, and then 1 north.
You should be at the CAVE.
The position of the CAVE is: (2,1
Distance ¥ “\Distance
East North
;j (1) Copy and complete
i The cave is at (2, 1)
; Remember:
The ROCK is at (4,8 Always start at the ship (0, 0)
’rIF‘hhe WRECK is at‘.(l,l) The first number is the Distance East
4 TRE,ASURE is at @8) The second number is the Distance North
(2) a) What is at (2, 5)?

b) What is at (2, 1)?
c) What is at (1, 2)?
d) What is at (4, 2)?
(3) a) What is at (3, 21%)?
b) What is at (2Y%, 4)?
c¢) What is the position of the castle ?

(4) If you enjoy making up maps draw
one of your own.
Write down the positions of all
‘ the places you mark.

& *”/”/% o
p = -
/}!\ ol / e %/
A
g Q«_/,/”,/
- // :




You will need cm squared paper. Smile 0263

P " Here is a picture of Sammy the sausage dog.
Co ordlnates 3 Draw a grid on cm squared paper and copy

Sammy exactly on to it.

: |
o 1+ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1) What are the co-ordinates of:-
(a) Sammy’s nose (c) his eye
(b) the end of his tail (d) the bottom of his ear?

2) Draw a new grid and number the lines across and up from 0 to 10.
In each question below plot the points and join them as you go.

@ (1,1 (b) (5, 1) (c)(7,1) (d) (1,4) (e) (4 6)
(3, 1) (6, 2) (9, 1) (3, 4) (7, 6)
(2, 3) (5, 3) (7, 3) (3, 6) (8, 8)
and back (4, 2) and back (1, 6) and back
to (1,1) and back to (7, 1) and back to (4, 6)
to (5,1) to (1, 4)

Write down the names of the shapes you have drawn.



Smile 0853

You will need 2 copies of worksheet 0853A.

Grids

|) Copyand complete:
Aidsat (I, 1)
Bisat (3, 1)
Cisat
D
E
F

2) Use one copy of worksheet 0853A
— plot the points A, B,C,D, E
and F on each grid.

Join up each set of points.
Colour in each new shape.

3) Now use the other copy of
worksheet 0853A. Draw a shape
of your own on grid | and see
how this changes. Choose an easy
shape which fits on the grid lines.

How do the shapes change? Talk about
this!
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You will need cm squared paper Smile 0262

Co-ordinates 2

8 . ,
)% (1) Copy this grid on cm squared
7 paper and mark on all the letters
carefully.

. LG 3§F

1 2 3 4 5 7 8

(2) Find the point marked A.
TogettoA........ go across 1.
then go up 3.

(3) The co-ordinates of A are (1, 3). Is this the same as (3, 1)?
Why not?

(4) Write down the co-ordinates of all the points marked
with letters.

(5) Mark these letters on your grid:-
L at (3, 7) P at (0, 6+)
M at (8, 0) Qat (74, 73)
N at (2, 53) R at (23, 17)
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You will need the Smile transparency book 0481A : Smile 0481

‘Where's that Town?




LU UVEGT LU pPayec @ Ul uUIe Udispareiivy 1urn over page o 01 tne wranspdrerncy

book. book.

2. What is the position of Dublin?

WHERE (S
EXETER !

BOT
WHAT ABOOT
GALWAY ¢

SOMEWHERE IV
THE SOUTH-WEST

YOO WILL MEED
TO MOVE THE GRID

THAT'S NO
GOOD-PLL THE
POSITIONS WILL

BUT WHERE
EXACTLY 7

YOU WILL VEED
AGRID IF YOU WANT
O BE MOKE PRECISE

YES YOU CAN-TUST EXTEND
{THE GRID AND DSE NEGATIVE NUMBEKS

Turn over page 2 of the transparency
book. Turn over page 4 of the transparency
book.

(EXETER ISAT
(4,2)

GALWAY IS AT
(2,9%)

7. Use the grid to give the positions of 3. Give the positions of the other Irish towns.
the other towns in England and Wales.

Trrn nuar



Turn over page b of the transparency
book.

WHAT IS THE
POSITION OF PARIS?

“UNOW — EXTEND
THE GRID
SOUTHWARDS.

, _ COorRRECT!
YOU CAN POSITION ANY

TOWN, HOWEVER FAR
SOUREH T FSc

Turn over page 6 of the transparency
book. :

“PARIS IS AT
ez

4. Give the positions of the other French towns.
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You will need: cm. Squared paper 0 4 9 4

All Co-ordinates
< D
(1) The co-ordinates of A are (3, 1) & N 48
What are the co-ordinates of % c
B, C, D, E, F and G?
2
F and G are difficult unless you ‘ La
extend the axes backwards....
[
© [ 2 2 =
143 xF
G L K_x
3
IL' ~"T. 2.
Now, using directed numbers,
- F is at (+2, -1)
-5 f-y |3 -2 M 1o 4y N S O G is at (-2, +Lf)
! F Just as before, the rule is
;T -2 H
4 M = GO ACROSS FIRST,
THEN UP (OR DOWN)
Ny
-s

(2) What are the co-ordinates of H, I, J, K, L, M and N?

(3) Draw axes on squared paper. Mark on these points:

P at (+3,-3) T at (+4,+2) X at (0,-3)
Q at (-4,+3) U at (+5,-4) Y at (+5,0)
R at (-5,-4) V at (-3,0) 7 at (=2,+1)
S at (-3,+5) W at (-4,-1)
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